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G g - A /] SECTION- A
TW*T W¥T / Objective Type Questions

Ty WEaT 18 1007% & OvT & v 9w feaer o we § R @ e a8

Rt so vt & swe o awr A MU WE frww w oMR viz v RifET
w 50 x 1 =50

Question Nos. I to 100 have four opticns, out of which only one is correct.
Answer any SO questions. You have to mark your selected option on the

OMR-Sheet. 50% 1 = 50
1. 5 & Wy [Ta U &7 0T 2

@) 25 B 20

€ 230 (D} 35

The mean of first seven mulfiples of 5 is

(A) 25 (B) 20

(€ 30 (D) 35
2. 20,13, 18, 25,6, 15,21, 9, 16, 8, 22 < miHH 2

(A) 18 B 16
€ o . D) 15
The median of 20, 13, 18, 25, 6, 15, 21,9, 16, 8, 22 is

(A) 18 (B) 16
{C} 6 (D) 15
3. 23, 15, 25, 40, 27, 25, 22, 25, 20 1 HE 8

(A) 23 (Ms

(C) 22 (D) 15
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| 210}

THE et of 23, 15; 55,40, 37, 25,23, 5. 20 e

(A) 23 (B} 29

) 22 (D) 13

T AT WA ) AT 40Eﬁwssztﬁwwm
(A) 43 (B) 436

{C} 42 o) ¥ a w7

The median of a frequency distribution is 40 and mean is 38:2.

Then its mode is

(A) 43 (B} 436

(C) 42 (D) none of these

AR x x+3 x+5, x+7Wx+ 10WMAAIAA x 1 W B

(A) 4 (B) 6

(€) 5 o 7
If the mean'of X, x+ 3, x+ 5, x+ 7 and x + 10 is 9 then the value of

xis

(A} 4 B) 6

€ 5 D)y 7
wiftwar & Faw T g 3

Al 0 B) 1

a2 (D} & ] = Tt
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The minimuym value of a probability is el

A) o B 1
c 2 (D)  none of these
7. ﬂﬁﬁwﬁmn#mﬁmﬁmaaﬂﬁﬂ%wm%ﬁm
gnft
(A) 053 B 65 -
«1C) 065 (D) 35

If the probability of occurrence of an cvent A i§ 0-35 then the
probability of non-occurrence of A is

{4) o083 B) 65
€ 065 D 35
8/ Rl ) 37w v ool ) s &
fM I B) 4
) 8 D) 6
In tosaihg of three coins the number of possible outcomes is
(A) 3 (B) 4
C) 8 (D) 6
9/ faafafya § S-wf wom fed wem 6 sl T @ g R 2

A) 05 (B), 19

€ 80% o 3
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2y
anot be the probability of

. ca
Which of the following numbers
event ?

1.9
(A] 05 (B}

3
(C] 80% G 2

y/qasqmaﬁwha 5m_sammmaﬁﬂmﬁm%

1
MO B 3 -

o 3

UC)

In a throw of one die the probability of occurrence of a number 5

. vn

less than 5 is .

(B

1
(A) =

1
&
© 3 O 3 )
Niﬁzo. 17, 14, 11, ... %1 35 91 9g &0 gy
w (8) - 82
Pl T D) -7

What is the 35th term of the AP, 20, 17, 14, 11, ... »

B 82 B -8
€ 7 D) -72
H/8-24(M)/72041-1rs70) Page 6 of 48
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[210]

12, wmim ¥ 3, 8, 13,18, ... ,93 4 fomi w2 § >
(A) 19--,' (B) 18
C) 20 (D) 16

How many terms are in A.P. 3,8,13, 18, .. , 937

(4) 19 (B} 18
(€} 20 (D) 16
13 waim & 1,3, 5,7, ... % W 30 W@ %1 e @
+(A) 900 (B) 990
(C) 890 | (D) 800
The sum of first 30 terms nr-the AP 1,357, ..is
(A} 900 (B) 990
(C) 890 (D) 800
15 g (242, -2) P gt A 20
(A) ey ' B i
10 T (D) w4
The point (-2y2,-2) lies in which quadrant ?
(A} First (B} Second
(¢) Third (D) Fourth

l H/S-24(M)/7204 1 -t78/30) | Page 7 of 48
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135.

16.

17.

| 210

fegall (5 cos0.0)T@ (u'sﬁnu,a;maﬂ@%
A) 10 B 5
() 30 (D) 25
The distance between the points (5 cos 0,0) and (0, S5sinb)is
(A} 10 B 35 !
© 30 (D) 25 l
o Rl g B x-om T @ T T ) TETE 10 T y- I W TRy
o %1 o 5 B At frg B fadwTE wm .
(A) (5, 10) (B) (10,5)

- [C) (10, 10) (D) (5,5)
If from a point B the lengtﬁ of perpendicular drawn to x-axis ig
10 and the length of perpendicular drawn to y-axis is 5 then the

co-ordinates of the poinf Bare

(A)  (5,10) (B) (10,5)
(C) (10,10) @) (5,5)
Rl {1423 W (4,-6) S M A gir &

(A) 23 | B) 345
€ 9 D) 6

The distance between the points (1, -3 ) and (4,-6)is
(A} 243 | (B) 3J2
€ o " D) 6

[H7 S-24(M)/7204 1 178730, Page 8 of 48
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(210 |

8.y R firg A gl (5,-2) WK (- 3, 2) A wETE @, W
= (A' (0,3] (B' {-210)
| € (0,-2) (D) (2,2)

The point on y-axis which is equidistant from the points ( 5, - 2)

and (- 3,2)is
Al (0,3) | B) (-2,0)
€ (0,-2) (D) (2,2)

19. ABCD @& mtmﬁnﬂﬁuo,m, B(8,0), C(8,6)W D(0,6)
& @ ofrga w1 o fal B
(A} 12 B 10
) 14 D) 16

ABCD is a rectangle whose verticesare A(0,0), B(8,0),C(8,6)
and D (0, 6 ). Thén'one of the diagonals of rectangle is

A) 12, B) 10

(C) < 14 . D) 16
20. 3 (0,4),(0,0)w (3,0) v % Ml & Fams & @ 39 B

&t aifife 2
(Al 8 | (B) 10

C) 12 (D) 15
TH/S-24(M)/ 7204 l-prsjac)] Page 9 of 48
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21.

22,

23.

[
ces of 2 tnangle ‘htn

the vertl
r(c.4) (0,0)and{3:© f] ] e
le i8

perimeter of the triang

W 8 ® 1

© 12 @ 1

: ) A
ﬁ3x+4y-10t{52x-2y 2 @
B x=LY" 2

A) x=2,y=1 :
(C) x*-l,y=-—2 {D) x=3,Y

If 3x + 4y = 10 and 2x - 2y = 2 then
(B) x=1,y=2

A} x=2,y=1
‘D) x=3,y=1

€ x=-1y=-2
3 S5 IS s = 14
Yo w3 x4 3y=7 @ 9x- 104 14 &

@ s @ P

() i (D) WA ahf |

The pair of linear equations %m-s y=7 and 9x~ 10y = 14 is
(A) coﬁsistcnt - (B) inconsistent

{C) " dependent (D) none of these

H 2x + 3y + 15 - oqaax 2y-12 = oﬁ:mﬁmmﬂ
tard gt 2

o) St e (B) WU Wt tand
/st vt © v v
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E (210]

The graphs of the ¢quations 2x + 3y + 15= 0 and 3x- 2y~ 12 ~0
are which type of straight lines ?

(A)  Coincident straig}';t lines .
(B)  Parallel straight lines
(C) Intersecting straight lines
{D)  None of these
24 gt P 2x-3y=5T 4x-6y=7H g1 &

s MWW (B @
(€ e g (D) A o
The system of linear equations 2x- 3y = 5 and 4x—- 6y = 7 has

(A) one and only one solution

(B) no solution
(C) inﬁnitely many solutions

(D) mnone of these

25. AR W W@ 4x + py = 16 T 2x + 9y = 1S WAM § A p = "W w0
gm ?

W 3 ® 3

€ 18 D} -3

] H/S-24({M)/72041 -(TMIOIE Page 11 of 48
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. | 2[3
= « 15 are parallel th
If straight lines 4x + py * 16 and 2% + 9y &

what is the value ol p?

1 B 3
(A 3
(C) 18 o -3
26. mﬁﬂﬁ:mﬁ?ﬁ%?
<., =8 z2 =L
(A’J 54;,4 31 (By—l'#' 3? 2!
(C) 8,14,20,26,.. (D] 4,10, 15,20, ...

Which of the following is not an A.P. ?

-5 -2 -1
A) 5, 4;,4 3l B -1 =275 =5
(C} 8, 14,20, 26, ... (D) 4,10, 15, 20, ...

27. 3R (2x-1), 7, 3x GWIR A 7 & & x B 7H FM

(‘9/3 B) 4

€) 1 Dy 5
If (2x-1], 7, 3xare in A.P., then what is the value of x ?
(A 3 (B] 4
€1 (D) 5
28, ﬁﬁ!amiﬁsm 19, ... %1
nwda g ~a. .- Tl |
o 40 ~ Q35 B WM Wl
(€ 30 | '
C) 55

H/S-24{M)/7204]
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; | 210
ir a, s n-th term of the A.P. S, 12, 19, ... then what is the valuc of

Qo = B35 7
{A) 20 B) 35
(© 30 (D} 55

29. 4R WA HA T 7 71 vz 4 & Gy W I - 4 R D YW R
wm 2
(A) 16 B) 20
() 24 D) 28

If the 7th term of an A.P. is 4 and its common difference is - 4,

then what is its first term ?
A) 16 B) 20 °
(C) 24 (D) 28
30. AR AW AP F WoH p el W W (4n? +2n) R @ TR A w1 @

R B |

‘ (A) 6 ' B) 14
€ 8 (D) 4
If the sum of first n terms of an A.P. is (tm2 +2n) then the common
difference of A.P. is

(A) 6 (B) - 14

8 (D) 4

iH/ S-24(M]/72041-|1mo)i Page 13 of 48
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l 21%

E | - ?
sinﬁxcmoﬂsﬂﬁ"““‘%

31. | )
tan 0 (B} ¢©oF
{:: 0 | (D) cosec 6
( sec |
. What is the reciprocal of gin@xcot0?
. as 0
{A) tan® (B) ¢
(C} . sec (D) cosecO .
\y./cot/lﬁ“ . cot 38° . cod 52° . cot 60° . cog/?&" =
@& 1 » B V3
(D) 3

9%

33. cosec{90°-0}.cos(90°~-0)=

(A) sec® (B) = tan®
(C) sin® | (D) cot®
34. AR sin0=yZcosO A sec 0 F UH B
1
w7 B 3
© X o 2
: o
If sinenﬁcosle then the value of sec § is
]
(A) = B) 3
© % ® 3
3
[H/S-24(M)/ 7204 1-z57801 Page 14 of 441
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35.

36.

37.

1210)
fStan"l 6w

a3 ' ® 1
) 9 &
o © 3

R A, B, CME}F!ABC*W&'?& cpacc[A;B]?ﬂ‘mt

A tan & ) e £

() cot -g- - (D) sin %

If A, B, C are angiea of' a triangle ABC, then the value of
cosec (_“;‘_%_E) is

W twn B)  sec £

(C) cot -g— | D) sin %

af: e a1 B k7 ) A A T e e
Pugy

('A] bk - ®  2:k°
€ 1:k? D) k%1

If the radius of a circle becomes k times then the ratio of the areas
of previous and new circles is

A) 1:k ® 2:k°
) 1:k? D) k1

— [H/8-24(M)/ 7204 1-78/80)] Page 15 of 48
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g g
E ¢
38. & B o rdgn ) gt Thfufy wn wvf 2

(A) =k . (B (mel)k

(€) n+2k @ (n+2)k

What is the 1otal perimeter of a semicircle whose radius is k?

(A) =k B (s+1)k
(C} =2k (D) (x+2)k
39. 2awidazddams dm EgmaA g
(A) 264 A (8 1327 #
(C) 84 & (0) 3 A v

The distance covered by a wheel of diameter 42 ¢m in 2 revolmimi

-

{A) 264 cm (B) 132cm
(C) 84cm (D) none of these
40 mqﬂfkwﬁfmaﬂm&mm“macqibmﬁﬂﬁfﬁl
ABCD @ @i R @ &l ABCD w1 fawa gym \
| t.
gp/ﬂﬂ'ﬂ‘ i (B) 100 &2 |
(C) 1258 (D) 128 42

11/8-24(M)/ 72041 rrerva Page 16 0! 13
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41.

42.

| 2107)
A, B, C and D are four points on the circumference of a circke of
radius 8 cm such that ABCD is a squarc. Then the area ¢f square
ABCDis
(A} 64 cm? ® 100cm’
(€©) 125em? (D) 128cm?

W ply)=(y+1) (y*+2)(y" +6) W gly) =y’ -3y+1 A ';:u:'" ®

um g

A} 6 ® 3

{C) S (D) <

If ply)=(y+1)(y*>+2)(y*+6) and g(y)=y -3y+1 then the

£y ;
degree of g i8

"

A) 6 B 3
@ S D 3
fefiiys § Wi fum whem } 2

(A)  (xel)(x-1)=x?-4x> (B)  (x-4P=3xed
L &

() 4x+§l;-8x2 D)  (2x7 +4) = (5+x) (2x-3)

Which of the following is a quadratic equation ?
(A)  (x+1){x-1) =x? -4y’ ®) (x+4|" al3x 4

1 .8x? D) (2xT+4) = (5+x)(2x-3)

(CI 4x '0'-2—;
TH/S-24(M)] 72041 -mssea] Page 17 of 48
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43.

44,

45.

[ 21

W—‘%fi?ﬁp -
ot foart wofr x2 ~5x+ p=10 = h

2

(A) 4 (B 5
€ 6 D) 8

If product of the roots of the quadratic equation X% -5x+ P=10 i
- 4, then the valuc of pis '

A) 4 (B) 9

C) 6 (D) 8

R (x-2), px® - x~6 B T PAGE 8 A p T AH &N

W 2 B 3

@1 (D} 4

If( x~2)is a factor of px°-x-6 then the value of p is

A 2 B 3

© | (D) 4

k& fow T % fore Ramr wdfteton x? +6x+k=0 % o ek v W
g ? | |

(A) 12 B 9
(C) 10 D)y 6
H/S-24(M)/7204 1 ~(75/80) Page 18 of 48
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46.

47.

| 210
For what valuc of k, roots of the quadratic equation x? +6x+k=0

are rcal and equal ?
A 12 (B) 9

€ 10 D) 6

feoma arfiet %x2—2x+%=0%ﬁﬁﬂ$ﬁmﬁ"ﬁ?
(A) SREfEs e e (B) 9 RafeE vd W
(C) arfas =& (D) ¥ & = 7

What is the nature of the roots of the quadratic equation

22 2xi3 07

3 4
(A} Real and unequal (B) . Real ;and equal
(C) Not real (D) None of these

2 fgama wfiew y24 3y -18= 0 F T @ - 6 3 M 6w gEU qW &

(A} 3 (B) -3

c 6 D) S

If one root of the quadratic equation yg +3y-18=0 is — 6 then its

another root is

() 3 B =2
© 6 B =

I H/S-24(M)/ 72041-|7mo|i Page 19 of 48

BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

| 2]‘

A o +p? Fmy |
E gmw"lx’-sus—oeﬁﬂ.‘s‘a‘l“ p & N
4g, U fO@
(B) 54
A 44
. (D) 64 I
(c 74 . SR 2P B
p are the roots of the quadratic eq 8
If « and P &
2 .
then the value of oZ+p” is
) 44 B) 54
(A
D 64

49, fara TR ax? -bx-¢=0, a+0 a"""-l?['g

_p3Jb? - 4ac b:l:Jb2+4ac

(A) 2a
o) _.b:tJbQ-H}a_c; Q/i\‘bz—‘ﬂ-ac
! 2a

'Thc rools of the qi.:adratic equation ax® -bx-¢=0, a=0 are

—binQ-—‘lac bt\’b2+4ac

*) = (B) -
-btyb® +dac b+ vb? - 4ac
(c) = o 2R

50. R x = 2 T wfteo éx2+2x+p=o T gx’+gx+1B=0 T ®
e W A @ (- p) T AR B |
(A) -4 B) -3
€ 9 D) 4

[H/S-24(M)/ 7204 1-(7s/80)] Page 20 of 48
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;%V'z-isuamal 1113...2

{ 21041
Ifx=2isacommon root of both the equations 2x% +2x+ p=0 and

2
gx" +qx+18=0 then the value of (g~ p) is
A -4 B) -3

© 9 o 4

(A) it e (B),” il e

(C) Wi wem (D) o A =
2:13113111311113...1is

(A)  a rational number (B) an irrational number
(C)] an intcger (D} none of these

o 9Pl W wE o AR we W vEea S wen B R 2

() <foR w@n By~ Ffoira v -

(C) . g w D) F™ A B T

The product of a rational number and an irrational number is
wh‘ich type of number ?

(A) A rational number (B) An irrational number

(C) A natural number (D) None of these

I'H/ S-24{M)/72041-mnmi Page 21 of 48
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55.

l21
B

el 57
“i9 B so
A 33
19
57 D) 733
€ Too

The simplest formof O 377. i8 biharboardquestionpaper.com

57
W 33 ® 5

57 19
€ 150 @ 32

54-/ af2 140 = 2" x5V x 7* VN x+y~2z=
v’

a2 B 4

) 3 (D) 1

If 1490 = 2" x5¥x 7* then x+y-z =

A) 2 B) 4
€ 3 D) 1
(6+ V135 )~(3+ V5 )+(1-4J5) }
' 7 qioYa wem | (B) Py wem
(C) anafas Tl (D) ¥ A = fl
(6+4125)~(3+J5)+(1-4/5} is
(A) a rational number (B) an irrational number
{C) not real (D) none of these
H/S-24(M)/ 7204 1 78re0) Page 22 of 48
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56.

57.
N

\ &

0-37
5*5‘5\113‘?;““.& Izl'u]

(A) 2350 .

€) 23x52 ::: :: : ::

In -g- form of 0-375, the form of g js

(A) 2950 B) 23452
(€) 23x5? D) 2%xs3

z’rﬁsmifmnoq;] '

S T ToWo 105 i

ot nﬁaﬂﬁmmst?ﬁ@ﬂ
75 (B) 15.

(A)
c
{)/ 315 (D) 525

The H.C.F, i
C F of two numbers is 15 and L.C.M. is 105. If one of the
numbers is 5 then the other number is

(A} 75 B) 15
(C) ~315 (D) 525
e WM PR @ = bg 4 r Ab=43,9=317 r= 32 @ A o3 41

g

‘4’/‘ 365 B} 1356
1

€ 1360 (D) 1350

—

' H/S-24(M)/7204 1 —mmr] Page 23 of 48
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{ Qlul

if in division algorithm @ = bq+r, b= 43, g = 31 and r = 32, thy
the value of @ will be |
(A] 1365 () 1356
(¢} 1360 (D) 1350
59. ﬁqwmﬁ'mt?ﬂﬁwiﬁﬂaﬂ#wmmg?
@) 2g+! (824
@ e O 2ges

If g is a positive integer, which of the following is an cven positive

integer ?
(A} 2g+1 {B) 2q
(€, 2q+3 (D) 2g+5

60. Frafrfia 4 fege gyme TaR wiw @ »

' 11 51
oM :
(C 15
) s R

Which of the following has terminatil-:g decimal expansion ?

11 |
{A) === 91
700 B 3igs
343 ]
) ; 15
23?(53373 (D) 25 xsz

H/S-24(M)/7204 f-;;snol
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bt hﬁﬁl*ﬂ.ﬂl‘wa(-ﬁ‘_4'ﬁwmm ﬁlngwl
: ey
%) O (-4
-4, - l
The mid-point of the | o |
i, = i ¢ line segment,nmlngthcpoimaﬁ{~2.8]ﬂ“d
(A} (-6,-4) B} (-4,2)
C) (2.6) O} (-4,-6)
62 MNF(1,2),(0,0)% (q b)ikwe, a
(A) a=b (B) a=2b
€©) 2a=b» " (D) a+b=0

If the points (1, 2), (0,0)and { q, b) are collincar then
(A} a=b (Bl a=2b
(C) 2a=b (D) a+b=0
63. T s ABCH Qwid A(2,3 )7 B(1,-3 )8 2% (3,028
@ fim Wil ¢ w Frams §

{A) (S5, 2) B (1,3)
() (6,0) 0 (2,-3)

Two vertices of a trianglc ABCarc A(2,3)and B(1,-3) and
centroid is ( 3, 0 ) then the co-ordinates of third vertex C are

B (1,3)
O (2,-3)

i H/S-24(M)/7204 l-l"lilﬂli Page 25 of 48
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E . ﬁ”-"‘-‘m.ﬁﬁ.
‘% pABC 3 AD (BAC xis & T
23t @g® X =TS
“w 3af L s
«w, 7= o i

In AABC, AD is baseczx dngHAB"m'AC'E’C:"‘

BD = 2 cxn o= the vakoe of DC i

W 3= ® o6am

© 7om o 4w
AD 4 AE__ 8 .

65, ﬁg:aacioznacﬂﬁiﬁ-jg'_—x-«s e T

x oA}
A 9 By 10
cr 11 o) 12 7
- AD 4 AE__ 8
In trisngle ABC, DE || BC such that 0 =—"— and £E=7-"15

then the value of x is
A 9 (B) 10
) 11 D) 12
66. R AARCH AB= 138N, BC- 12 ¥ w1 AC = 5 3t A 2 w1 wA L

B B) 30°
s D) 450
H/8-24(M)/ 7204 T-rrguoy Page 26 o 48
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Hn AABC, AB = 13 ¢y oo (210)

67

of ZC 18 mcm"‘dAC'Scmﬂtenthcvalue
(A} 90°
B) 30
(C) 60°
o 3 (D) 45¢
TR gt & i ;
- I 4 DA A P w1 9
W 27:8 (B) 3:2

M:4 D) 4:9

If the ratio of areas of two ¢quilatcral triangles is 9 : 4 then the

ratio of their perimeters is

{C) 9:4 ' {D) 4:9

afe AABC 7 ADEF #,AB _BC _AC _5
HTEA F1 A M

(A) S.7 {B) 25:49
(C) 49:25 (D) 125:343

F AB _BC _AC, 3 then the ratio of the

areas of AABC and ADEF is

A) 5:7 B) 25:49

{C) 49:25 (D) 125:343

i H/s~24(M]f‘?204|-m:m| Page 27 of 48
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' ) ”l'ﬂi
ps w0 LA LP% 3k

E A.Daiﬂi |
Emcwéaponmﬂﬁﬂf"&_ |
W(MBCI_ |
ﬁmm-easamwps-s-zﬂﬂﬁm
(A) 49:16 (B) 25:16 1
1:64
(C) 36:49 (D) 8!

AABC and APQR are similar triangles. If AD and PS are bisectors g
' = 52 cm
£A and ZP respectively and AD = 65 cm, PS then

area ( AABC| _
arca ( APQR)
(€] doids (D} 8l :64

70. uw wAaTg g ) o e a @ @ s Swid g

(A) * a/3 B 3¥3
(€} 2d43. D} %
| g (D} =
If one side of an equilateral triangle is q then its height is
(A)  av3 B £
(B) 2\/5
(C) 2a43 Dy &
J3

|H/S~24[Mm:m

Page 28 of 48

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

72

73.

M“thﬂﬂamm“ . 1 2i6)
At TR Th 34 § ) g 6 o
4 A
1)) B sha
) 108
0} gafl

(C} 10em D) Bem

R D W 25w FR o A e wd-tenait € wen 0
A ! - B 2

€ 3 D) 4
If two circles touch ‘each other internally then the number of

common tangents is

(A 1 (B) 2
) 3 D) . 4 |
ﬂmuﬂﬂmﬁmriqﬂﬂﬁmtmﬁﬁmmhm
W T

wﬂ
A) 90° (B)
) 30° (o) 120° -

T175.24(M)/72031 002 , PRIl
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74.

79,

' . | 2101
- . e i8 eqngl to the radius of the
rd @ circl
If the length of any cho b
circle then the angle subtended by

)
{A)  90° =

A a0° ® 3
o) 60°

c) 50°
(rom an external point T'toa

TP and TQ are two tangents drawn

circle whose centre is O such that ZPOQ = 120°. Then the value of

LZOTPis
(A) 40° (B) 30°
{C) 50° D) 60°

7fe tan2A =6t A - 18°) Tl 24 TA FT 2 A A F A R

(A) “72e B) 36°
€) 60° D] 45°

If tan2A=cot(A -18° where 24 is an acute angle, then the value

of Ais
w72 ® 36
i) e (D) 4s°

h__
H/S-24(M)/7204 1-i78/80) Page 30 ol 48
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g

in0=¥3 _
p T sin ’§'°<9o~m [210]

tﬂl’]2 0- l =
(A} 1
€ 2

If 3iﬂ0=-J-§§-. 0 < 9@

B) ¢
o
then t&n: 0-1 .

(A)
c 2

B o
0y -
77. 9cosec?22° 0002 9oe ola

(A) 9
B 10
1
C =
B B D) o

78. MR sin0=L 7t cos 6 w1 §
(%)/J ba_"ai
b

(C)- (D) %

(A) 2
J b2 - a2
. ,
bﬁ_aﬂ
If 8in@ =-§~ then the value of cos 0 is

(A B L

{C)

T F7S-24(M)/ 7204 1-(78/80) Page 31 of 48

3
Jbg—ag

b
¥ P

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

{zlol

12
b g 5
@ E = 12
T .
12 (D) '1'53'
Y
I secﬂ=-i—§- then cot 8 =
)
=k B) T3
A 53 13
13
12 By =
€ 2 l 5
80. (secD+tanf} (1-8in@)=
(A) sin@ | (B) cos®
- (C)  secO (D) cosec®
8 froaefon 3 3w Tl 4 7
(A) J3x*-5/2x+3 B) 3x*-4x+J5
© x+24% P Llx-3x+2
Which of the following is not a polynomial ?
(Al V3x2-5/2x+3 B) 3x?-4x4+45
©  x+2Jx {D) -}s-xs -3x%4+2

82, WBW (3x?-7x+2)(2x* +3x° -5x+2) %y 2

i 2 B) 6
(C) 4. D) 3

H/S-24(M)/ 72031175 ] Page 32 of 48
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[

The degree of the Polmor'n‘a]
ial (32 (210
A 2 * 7x+2|’(2x‘+3x3-5x+2j is |
o B} g
(D)
/TR X 13 % 3
(A) 13, -13
' B 13 .43 .
€ V13, - i3 .
13, -13
The zeraes of the Polynomig) x2_13
_ = are
A 13, -1 |
€ V13, -Ji3 (D) V13, -13
" .
@ m ﬁ?ﬂm%m—t?yzﬂ-x-(mw)mwma?
A 7 - . B 8 |
(C) 9 D) 5

For what value. of m, - 4 is one of the zeroes of the polynomial
xz—x~(2m+2) ?

A 7 (B) 8

(C)] 9 (D) S

. R agag p(x;=ax'-’-3(a-1ix-1 1 (% YI6 1 8 @ o F 7 F
(A) 3 B |
D) 2

) o . ,
T T1/5-24(M)/ 7204 1-trs/s0 Page 33 of 48
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87.

12101
2_3(a-1)x-1 thep

. ax
If 1 is one zero of the W'ynomml A

value of a is
A 3 ® !
-3 ¥?

Prerferfr i R Ram wgeg & T 5

. 24¢x-3
Al 10x2+x+3 B 105 %
@) 10x"-x-3

(C) 10x%-x+3
quadratic polynomials ~ has  zeroes

Which of the following

gand-%?
2 L.
(A)  10x2+x+3 @) 10x"+x-3
D) 10x*-x-3

(C) 10x*-x+3
afe wgae p[x]-x'z-ax-dr FqEE o @ pE A %(Mm F W
L1}

Al .4 _ B) 3

(c -3 ' D) 1

If @ and B are the zeroes of the polynomial p(x)= x?-3x-4 then

the value of %[a +P) is

(A) 4 B) 3
c) -3 D) 1
H/S-24(M)/ 7204 1-rme/s0 Page 34 of 48
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=

Y R g P{xl'ﬂqq;ms
¥ A

(A] Xx-5 p(x)q;,_m e [210)
i (B
© 3= | xes
(D) 1
i one 2210 of the Polynomq, Y o
X
@ x-S lisSthenoneractoror plx) is
0 < o wes
( x_.s
(D 1
MR plx)=x*42,3 ) -
] ot o X" =17 “4x+30 H q(x)= x2
“T‘“'"ﬂ*lmm +2x-15 |} wm
i3 B) 2
s o 1

-
If plx)=x" +2x3 ~17,2 ~4x+30 is divideqd by
g(x)=x%+2x- =15, then the degree of the quoticnt is

A 4 B) 2
« 3 D 1
. I TEIE x+5x+8 ¥ YTF o« W B E A u’w’;zaawmm
W 28 B s
() 8 - (O 64

If « and B are the zerces of the polynomial x2 +5x+ 8 then the

Valuc of [:2 4 ﬁz + QG_ﬂ 18 biharboardquestionpaper.com

" (A) 25 G
© 8 ® &

— ' 7504 77204 1-(70/80) Page 35 of 48
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|2101

Reehl ry & i wem T e A b, ¢ § T T T 3y
wm
(A} abe B) 2abe
© Jabo o) 3Jabe
I the areas of threc adjacent faces of a cubcid are a, b
respectively, then the volume of the cuboid is
{A) abe B) 2abe
() Jabe D) 3Jabe
92. % v W wq gty Quwd 216 A7 W ¥ A
(A) 144 3R . @ 196
© 212%A° D) 21681

The total surface area of a cube is 216 cem? then its volume is

(A)  144cm’ () 196 cm’
(€ 212 cm? | (D) 216cm? :

’ ‘
&-/auﬁ%mmaﬁmamml:&tﬁtu%wi!mmm

g

Ay 1:4 B) 1:16
€ 1:18 - @-"1:3
H/S-24(M) {7204 1-(16/80) | Page 36 of a8
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ﬂ The ratio of "ﬂlum“ ‘
o

rface i CUbes ¢
:: l:‘:“ i3 beain | * €4, The ratio of thei[rat::?al
o Iz B 16
. ﬁ!“"‘lh"ﬁ"‘“mmﬁ?- N
mﬁmﬁﬂmm “mhﬁmmx 2¢ @
A 1:42
o 1.2 ® 4.,
‘ D) 1.4

 1:2 _(Dj 1:4
5 mimmmhmnsoﬂm’tﬁmmﬁmzaﬂmz
2w Faré o |

(A) miﬁﬂ (B) 153
(€ 20%h (D) 40 ¥h

If the curved surface area of a cylinder is 1760 cm? and its base

diameter is 28 cm then its height is
{A) 10cm () 15cm

~ 1175.24(M)/ 7204 1-trs/s0) Page 37 of 48
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|310]

E # wrd wreh
!E!&hoamﬁmgmﬂquﬂzaoﬂ'ﬂamm
ot
w 28 ® 360
20
aR% py B2
© g D) 360

i OB =0
If O is the centre and R is the radius of 8 circle and £ZA then

the length of arc AB is

2nRE

w2 B ‘360
2 xR%9

© 55 0 360

IBD - .
o7. uit faelt i @ P Sarf [ anum B B A A TF T A

@T%a o
(A)  nrd +r (B) nrl +xr’
(€ xrd +r? | D) rr +2r°

If {is slant height of a cone and r is the radius of its basc then total

surface area of cone is

(A) wnrl +r (B) =rd +r®

C) =art+r? D) =rl +2r
qa/q}'hﬁ%amﬁmm 125 : 27 ¥ R W& i Sl W AW
am

9:25 B) 25:9

/5 | D} 3:5
H/S-24(M)/ 7204 1-rare0) Page 38 of 48
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The ratio of vo | 'ﬁ l'l
E lumes of two spheres ig 125 : 27 then the ratio of itl
surface areas ia

¥ WF F amm 9 B &
(A) sad (B) o
(C) 1o&ft (D) 12 &

A sphere of radius 8 cm is melted to form a cone of height 32 cm.

The radius of base of the cone is
(A} 8cm (B) 9cm
(C) 10ecm ¢ (D) 12¢m

100. AR 7= %1 e fawe 616 Aft? B A A 1 =@ B

(A) 7ad (B) 14 Fh
(C) 28%H D) 56&h
If the surface arca of a sphere is 616 cm? then the diameter of
sphere is
{A) 7cm (B)] 14cm
€ 28em . .(D) 56em

- [H/S-24(M)/ 7204 1-78/20)] Page 39 of 48
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| 210

W-IISECﬂOﬂ-B
Y IWT WY / Short Answer Type Questions
T WO 18 30mw my awde s §1 e @ A 15 97 & anT & e

Question Nos. I to 30 are Short Answer Type Qu
15 questions. Each question carries 2 marks.

estions. Answer any
152230

|, . qfitrs R TEie o s W 148 T 185 W HORo I W
Using Euclid division algorithm find the HCF of 148 and 185.
2. Prafefem stest o ava wowt 9
W 2 4 6 10 12
SRR 3 2 3 1 z
Find the mean of the following data :
Variable 2 4 6 10 12
Frequency 3 2 3 i 3

3. TR q® AW M PA W 3 0 AW B O A0 99 W S T Q

s F d19 ¥ % 60° ® @ op I TEw 7E Bl

2

If the angle between two tangents drawn from an external point
P to a-circle of radius 3 cm and centre O is 60°, find the length

of OP.

@ T8 @m ?

k& ra o & R aftem e+ y= 170 (k- 1) x+ 2y = 3 1 Hif

2

For what value of k equations kx + y = land (k- 1) x+2y=3

have no solution ?

5.  WAFD 3x+ y= 11 F IFH g@ma 4 g9 ford)

2

Write the solution of the equation 3x + y = 11 in natural numbers.

BiharboardQuestionpaper.com
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10. ﬁgamcwmmﬁmmm:uz,n.

11.

Wi 1

6 ¥ x-3%3, xag -
.zﬂima'fﬂmﬁl I
Find 2

the roq of the ®Quation 1 _ 1

- g wS,x:O?
AABC .0 o o L
90 ampamom:mcaahcstw

%aiﬂﬁt4ao’a +BC? .
In AABC, AC-9D“andP:Qaremld N

If point 4 (x, 2) is equidis ; ;
C[?.-Q}dacnﬁndtheva]
Rg(-4,6), it 4 (-6,
a}ﬁmalgvmﬂﬁmhnmt
In what ratio does the point ( -
the points A (-~ ¢ | 10}and B(3,-8)7

01 B(3,-8) ) ard Y
? :
2

Find the areq of the triangle ABC
B4, 9)and C (0,3} respectively.

mﬁWﬁ:

3¢¢(90° ~0) cosec - tan(go'-ejcoce-u-cos"‘zs'moa’ 65'
3tan27" tan63’ '

Evaluate :

sec(90° -0) cosccﬁ-tan(go'—l]]cothoos’%'+cus’65'
3tan27" tan63’ '

[H/5-24(M) /7204 1-mesao) Page 41 of 48
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1210

13/ Re=lfe sec0+tan0_(l+sin0]z_ 2

scc®-tan0 | cos@

- 2
Prove the 36C0+1an8 _[1+sinGJ .

secB-tan® | cos0
lyﬁmm Ji'x’_pﬁmtﬁ%aﬁmﬁﬂim?ﬁﬂﬁﬁl
o) 2
. 2
Find the discriminant of the quadratic equation S2x*-x-2=0

and hence find the nature of the roots.
14, Kk Pra A ¥ R FERE ke(x - 2) -6 =0 ¥ IF TRLER ?
For what value of k will the equation kx(x-2)+6=0 have equal

2

roots ?

15 7 wEsi g s, 11, 17, 23, . W EE R 301 k2 SR

is a term of the list of numbers

2
Check whether 301
5.1, 17.23; . «

16. fog ®t 5 (2+J3 ) & 9y gon T8 b y;

Prove that (2+ J3 )’ is not a rational number.

17. fowm @g9¢ 3x° - x- 4 % y@® WO w3l Y=H! T Eint & =9 F
w4y ) g & I F:UY 2

Find the zeroes of the quadratic polynomial 3x’-x-4 and verify

the relationship between the zeroes and the co-efficients.
1_§/ing 2x* +3x° - 2x? ~9x-12 H aER x* -3 A wm 3 2

Divide polynomial 2x* + 3x> - 2x%2 -9x-12 by polynomiat x? - 3.

IH /S-24(M)/72041-78/80) Page 42 of 48
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Pind e o lowﬁmmmﬁ' [210]
0. 8% gum | ;r;;;ﬂ »in s, |
. I
i ‘fd the gypy, of firgt Multipleg of 2
i 3 Sofg,
PS_';'H‘* ST T 4t po PRI W wom € f
l---. B zpnqmﬁr;ﬁfkamnwmmﬁﬂwtiﬂ
n triange POR, two Paints $ anq T
o are on sideg PQ and pp such

is0sceles triangle,

22. I wr (@*49)x? | 131+ 6 MR G T SO
ma '

2

If one zerg of the Polynomial (.::2+9).ac2

+13x+6q is reciprocal of
the others, then find the value of ¢

23. Mﬁa%m%mlwmn%mmimm%mlﬁﬁ

mn%nmtrmmwmml

On adding 1 to the numerator of a fraction it becomes -%— and on

adding 1 to the denominator it becomes :—;- Write the equation for
this statement.

24. mwax+5y-9m3x+2y=4$’rMMﬂ!ﬂﬁl p)

Solve the pair of equations 8x + 5y = 9 and 3x + 2y = 4 by
substitution method.
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f210]

MISSING PAGE 44
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MISSING PAGE 45
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1210]
5

ﬁnﬁﬂs

sinA__ l+cosA)( sinA _1::;"3.‘1)-4cosecﬁcﬁtﬁ-
T+cosA T anA i-cosA sin

Prove that

sinA  1+cosA)( sinA _kFQ'A].qcomAmtA.
T+cosA @ —sinA J(I-cosA  sinA

mwﬁ!ﬂ.s#ﬂamm%rﬂﬁﬁwﬁmémg%!ﬂﬂﬂﬂ'ﬁ@ﬁﬁ
S

3s.
ﬁmmmmmmmtlwmﬁhmﬁl

Metallic spheres of radii 6 cm, 8 em and 10 cm respectively, are

melted to form a single solid sphere. Find the radius of the

resulting sphere.
M & 3R @ ok T e tan A 4 sl o st A 30w fem Q g

A dan & P ¥ e g wo § g w R AR B S

6 it R 5

The angles of elevation of the top of a tower from two points at
distanices of 4 m and 9 m from the basc of the tower which are in

the same straight line, are complementary. Prove that the height of

the toweris 6 m.

37. 6 ¥h fien %1 w39 W ¥ R 10 Sh 1 o w R A W wm w

Y 7w R w3 3 Fa Tk 5
(H/S-24(M) /7204 1-t1s/80) Page 46 of 48
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centre . Prom g o 210
* Conatryey the s of & point 10 cm away from iy
Of tan
their lengths. BENts to the tircle and measure
38. :
r_i‘I;T’_'—\- _ _
3 40-45 45-5p r j
e —— 50-55 | 55-60 | 60.65 65-70 | 70.75
] 2 8 6 6 3 2
Find :
the Median of the following data :

Ctass-intewal 40-45 45-50 S0-58

55-60 | 60-65 65-70 | 70-75

Frequency 2

3 8

6 6 3 2

' M

faer 1 aiv 3ie gera sifftfaas
FaAYel Uz, Alses que, -,

UTSeIehdl, Siled, Al e, Ae- 314 3T

e ®es udten usst u= 3nfe & f3e...

( BiharboardQuestionpaper.com _._D

‘KR
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